





STATISTICS 2023 EXAM THREE FALL 1997 PAGE THREE
STATE THE ANSWER. Write the answer on the line. (3 points each)

A sample of 16 observations produced a mean of 23 and a standard deviation of 8. Use this
information to answer the next four questions. )y = /6 )?".: 23 ) S=F
7

2 5 21. What is the numerical value of the point estimate for the mean of the
population from which the above sample was drawn?

9 n = X =273
22. What is the numerical value of the estimated standard error of the point
estimate for the population mean based on the above sample information?

g
5.7¢0 y W I .

. : 23. If the standard error for the sample mean is 3.4 what is the numerical
value of the bound of error for a 90% confidence interval to estimate the mean of the population
from which the sample was drawn? Round your answer to three digits past the decimal. 7o

B = ¢ g5 S 7 753 (5.4) - 5 io -

(/ 6 o '/ 2 ?‘ 5) 24. If the bound of error for a 90% confidence interval is 6.5 units
what is the 90% confidence interval to estimate the population mean based on the sample mean
stated above? State the interval. ")?’ 7> 5

2276.5
5.5, 29.5)
Four hundred students were questioned “about whether of not they had ever been to Gallagher-Iba
Arena for a sports event. Out of the four hundred students questioned 290 students stated that
they had been to Gallagher-Iba Arena for a sports event. Use this information to answer the
remaining questions on this page. o

.72 & 25. Based on this sample what is the numerical value of the point estimate
for the proportion of students who have been to Gallagher-Iba Arena for a sports event?

/5/—':—2-(:2”* 725

0.0223 26. What is the numerical vahje o; the estimated standard error for the point
~ estimate for the proportion of students who have been to Gallagher-Iba Arena for a sports event?

Round to four digits past the decimal. /
TS (/= 775
S/ )=,0;23257/?

/’ o 6 27. Assume the estimated standard error of the point estimate for the
proportion of students who have been to Gallagher-Iba Arena for a sports event is 0.02. Then,
what is the numerical value of the z test statistic to check if the proportion is equal to 75%
against an alternative that the proportion is less than 75%?

57102 _ M‘L: _7S= .75 .
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STATISTICS 2023 EXAM THREE FALL 1997 PAGE FOUR
STATE THE ANSWER. Write the answer on the line. (4 points each)

A winter bird feeding station has in past winters fed 62 pounds of black-oil sunflower seed on
average per week. In the first nine weeks this winter an average of 67 pounds of seed was fed
with a standard deviation of 6. Use this data as a random sample to answer the questions on this

page. n=9, r=¢7, S=¢

/éé} R 28. State the appropriate alternative hypothesis if the research question is,
“Do these nine weeks of data provide evidence that the average weekly amount of seed fed at the
bird feeding station is more than 62 pounds?”

A 5 29. What is the numerical value of the test statistic to test the null hypothesis
that the average amount of seed fed at the bird feeding station is equal to 62 pounds?

fo B, Tt (7-62 s

- e ,.4-.2'5

Sz k. B ~
~ //17 /?"

’é' (]8 ) 30. What is the name of the distribution of the test statistic if in fact the
average amount of seed fed per week at the feeding station is 62 pounds?

005< PG 1= )ﬁ_:_s,_{ﬂf_ AT (ﬁ_,/),?/ G M=My (s Tne .
025, + 05 31 Ifthe numerical value of the test statistic in this case was 1.9 then the p-
value of this hypothesis test would be between what two values?

t@) .05

r-/’_'b.fD
=, 025

(rgé [ ’Ci 2:306

32. If the researcher performing this hypothesis test can not tolerate more
than 1% chance of rejecting a true null hypothesis then what value must the test statistic exceed
in order to reject the null hypothesis?

£(3)

2,996

%W 33. If the p-value of this hypothesis test is between 0.005 and 0.01 and the
significance level chosen by the researcher is 0.05 should the null hypothesis be rejected?
Answer YES or NO.

005 <P < 0l < .05 =oC =k Hpeer o,




